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108 iu_(;fi/i§vﬂ_*7§”’7l””’ 27 69,607 1.3 374 2 70,035
RY (AFzF L) =RT VLT —T/Uhf
109 o S 15/ 11,103|  0.085 77,664 50,183 138,966
410 i%*ﬂ?/i%V/)_/”’WI””i 1,169 67,618 19 1,487 258 70,551
411 AL LTAFER 1,929 765 9,176| 2,377| 126,424 648 119,819  21,053|14,339| 1,166 1,368 1,108 99| 300,272
12 |~ A ROZDILEY 3.5 88 36 8.6 27 163
413 KT B VR 0.16 0.16
414 [ HEK~<L A 0.036 1,663 0.0004 1,663
415 [ ATV 54 1.9 56
416 | AZTYNEE2 — =F N ~FL v
417 | AFZVIVER2, 3—TiRFL 7L
U8 AFVINEEL— (PAFNATI)) =F )L 0.046 0.067 0.11
419 [ AX V)V N~V —T F )L
420 [ AZVVNEATF L 874 468 13 1,355
421 [4A—AFVF o AF®H —2—F
422 7=V BT 12,496 12,496
423 AFNTIL 0.0009 0.003 0.004
424 AFN=AVFHTT F—b
425 AV TaWNT
426 HNERTTL
427 AU 1,000 129 1,129
428 [T )TIINT 8.0 137 145
429 [/~\pRLTay ATV 19 19
430 A R¥HALT 23 23
431 |7V ¥ AbRE Y 7,366 7,366
432 [7IRGA
433 | F1—/ 4
134 FFHIL 5,282 5,282
435 [EUS /Ry AF )L 198 198
436 | TNT 7 —AFNAF L
437 |3—AFNF AT —)L
438 AFNFTHLY 9.6 24,394 0.42 0.19 24,404

439

3—AF NV
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MRRFR L HEHIRR - 5 Gefb F BTN OBkt fre B A CEARB0EE « AKifiE#) [1. G il A T e H OO T 2 GID UL F~23. FESEBE R BE HI i 7

XNBLFHE AR B (kg/ e, A4 % Bildme-TEQ/ %)
wE 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
i waA HEXHD ) mx | m sy VRS DR DA | VR o e BRAE o BB | | AV rbk | e | koo BEEERER) g

&5 e e e e e N e I e I I e

1—AF L —1—Tx== LT )L =tRr~
440 AAFR 0.004 0.011 0.015
441 2~ A=AFATREN) —4, 6—V=r

Tx/—)v
442 A7 =)L 3,555 3,555
443 | AV 2,616 2,616
444 N7 a¥ T AhaE 1,931 1,931
445 | JLYRLBATFIL 3,029 3,029
446 |4, 4’ —AFLL T =0
447 AFLUER(4, 1 —vraaFily) =

AV T F—h
448 ;3;\::}:2(4, 1—Tx=b) =AYy 33 0.18 33
449 [T =L AT 4T 7 A 63,666 37 63,703
450 (VT FHNT 41 41
451 |2—ARFT —B—AF AT =D
452 (2= AVHT IR F TV —) 0.42 0.42
453 [EVT T ROZDLEY 4.5 644 1.0 650
454 [2— (ENKR) VT AH) RS FT/ —)v 0.056 0.056
455 |[E/NARY 10 48 58
456 |WAALT VI=0 A 220 220
457 |V 7r)LRA 462 462
458 DAREN A (2— =F L~F L)
459 WABENIA(2— ZrmxF L) 4.5 4.5
460 W ABERY RV 1.8 1.8
461 WAREN) 7 ==L 3.2 5.2 8.3
462 (WABEN— /v~ — T F )L

& B 902,328 2,886,429 2,505 38,335| 946,155/ 1,215,447] 866,843 129,088| 406,959| 35,347| 2,435,068 27,2200 256,797 193,141/43,017] 9,579| 3,792] 301,265 722 139,951 398,277 6,483 3,643] 11,247,569
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